2N AYE

Hu: (HYS) M (LUDDHF/LBYE)
Chel (aes) 2 (etel: =3
_ _ _ Muo
S BB SR(SH) - HRAY - BAS arey i HRE2
= 486,682 531,107 A44,425
AE) A (LEISTEE/UBHEE) 362,560 413,610 A51,050
agts) a2t 130,260 181,310 251,050
A2 XHE 2te 5,550 63,200 Ab57,650
201 get=24Ed| 5,550 6,500 A 950
02 32244 5,550 3,500 2,050
OdEsX&eldl 1,500,000 * 14| 1,500
Oxtg o &l 2,000
—XERAH ¥ IFEADE
2,000,000& * 104 2,000
O3 M &=+ 22| 1,000,000 * 14! 1,000
OdHEI| 2 63 HFHIRAEH|
300,000& * 7& = 50/100 1,050
2agZ 2l 4,878 4,380 498
101 @124 H| 2,199 2,100 99
04 JIZtH 22 HSE+ 2,199 2,100 99
OdYS otHEHIF 36,6403 » 1F » 60 2,199
206 M= Hl 2,679 2,280 399
01 =4l 2,679 2,280 399
OaYs ALY SRU(IHE ELF) 2,679
Y= 1,860& = 200 £ 372
—&R 1,690& * 300 ¢ 507
—EHAHR 3,000& = 600 ¢ 1,800
2ets =A2el 8,500 8,400 100
201 fEt2Ed| 8,500 8,400 100
02 2244 8,500 8,400 100
O=2otE #clhl 50,000& = 4255 = 40/100 8,500
=533 MY 18,086 12,530 5,556
101 21 24d| 12,386 11,830 556
04 JIZtH22 S ES 12,386 11,830 556
Ok=z8 & Mg 2tJ]
36,6403 » 2 » 182 = 33l 3,958
OZL4aes Helxd o=
36,640& » 10H » 22 * 53] 3,664
O2EZJSAY 2 (Z22xd =FX22l)
36,6403 » 7H x 10& 2,565
OAIJHA 212 & 33|
36,6402 » 2% * 30 2,199
206 M= 4l 5,700 700 5,000
01 =4l 5,700 700 5,000
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SN AUS
HE: (MUS) A (LUDBHT /AP HE)
Bel: (4us) a2l (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
OZ2 o ZYX =4. 22l 700
—EEH YN %M 2L 10,0008 * 105 100
—ElHl % HETY 50008 * 0% * 23| 100
—HeE 5,002 * 5% + 43 100
-2 29 2,002 * 2002 * 15 400
OSHE SMUS CHAN ZLIS ATHAY
10,0008 * 5002 5,000
ZOIRE| Jler 5 93,246 92,800 446
201 QEr2gy| 446 0 446
02 ZB=2YL| 446 0 446
oS CCTV ®II23
5,302 * 74 * 122 446
301 QB AE 92,800 92,800 0
0552 - BIRESBA2 88,300 83,300 0
oSy +¢ 82,000
—Jl=4g 200,008 * 252 * 128 * 13 60,000
— 4012 200,008 * 259 * 12 * 23l 10,000
—slolgs g
20,0009 * 258 * 122 * 23l 12,000
O¥tE 4% 50,0002 * 1263 * 12 * 13l 6,300
10 BANAIHI 2 A3 4,500 4,500 0
OXSeEE s S 5lAFHAT S
5,002 * 75% + 122 4,500
ARE FOIEAAY 232,300 232,300 0
ARE FOIE ARY 232,300 232,300 0
401 Al EHIL 2T 232,300 232,300 0
01 Al&t| 230,000 230,000 0
OATS ZQIHAAY 230,000,000 * 1A 230,000
03 Al& 2 THH] 2,300 2,300 0
OATRD ZOIMAAY ALY
230,000,0008 * 1/100 2,300
HZ2A AL (HYS)(OIEH/IIE) 124,122 117,497 6,625
ol 2| 31,408 28,993 2,415
ol 2| 31,408 28,993 2,415
101 Q1248 31,408 28,993 2,415
01 24 31,408 28,993 2,415
ONze2Rad
8,078%1 * 9F * 36AI2} * 122 31,408
R 92,714 83,504 4,210
o=l 92,714 83,504 4,210
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SN AYS
w2 AAH(4LS)OIEHIIE)
e ST (9l @2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 Lpr2e Y] 50, 104 32,494 7,610
01 AL 22 bl 23,044 21,854 1,190
OJlE8H ALSBH| 1,404
—SASX YL (MIIE)
13,0002 * 92t A « {22 1,404
OS2044) 5,008 * 341 * 9% » 128 1,620
SHEES] 100,0002 * 122 1,200
0472 THRULI 50,0008 * 122 600
OARR44| 4,380
—2ADI(AE) 22 500,0008 * 14 500
—ZRIE 421 100,0008 * 204 * 50/100 100
—= Al £ 20,0008 53 = 1CH 1,000
—ZEEI(SY)
20,0008 * 53| * 204 2,000
—pe-2| 100,00020 * 9CH * 20/100 180
—DIEt %2t 50,0008 * 122 600
OJIEAREEY) 5,008 * 9 * 122 540
ogx+g 13,300
—&xLG 30,0008 * 18 * 2502 7,500
—Yumag 50,0008 * 12 * 1162 5,800
02 22| 27,060 10,640 16,420
0Z2e3 2 HAl 27,060
—eweg @ 200,0002 * 128 2,400
~-®I123 1,500,000 * 122 18,000
L= 50,0008 * 122 600
- CRCE = 100,000 * 23] 200
—FI|H B ASE 110,002 * 128 1,320
~HoE AR 250,0002! * 13l 250
—RuASE 9,008 * 20} * 122 216
L CECE 65,0002 + 122 1,980
—SYINRNBLSHH 165,008 « 122 1,980
—SLIIFIIZ A 13,8502 * 13l 114
202 01t 30, 150 30, 150 0
01 2LH0it] 3,150 3,150 0
O=LHoibl 70,0008 * 9F * 5 3,150
02 2 201t 27,000 27,000 0
ONYs Xg FUoiH|
250,0002 * 9% 128 27,000
203 &R E A M| 9,960 9,960 0
NBEEEEEES S 6,600 6,600 0
OSE JIBSYALFFY| 6,600,008 * 1 6,600
02 BRIIA L EZH| 360 360 0
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e
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A 13,400
213,400

LH3r
m<l
Rk

3,000

1,800
1,800

14,100
14,100
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o

s
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360
3,000
3,000

1,800
1,800

1,800

700
700
700
700

40,0008 » 9H

0B

128

o
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e

250,000

R0
o
10
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ol
1
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Oo
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ulr
RF

405 Kt

ur

R

OXtat

2l = 204
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